Answers

1) a) 96+3=32
b) 66+3=22
B6+2=43
29 4=2]
2) 62+2=3
1) Marisa is correct — Lee has made a mistake. He has correctly partitioned 432 into 4 and 8 but should not have
changed the divisor + 4 into + 2 as both parts need to be divided by 4. The correct parts then would be 10 and
2, giving an answer of 12.
2) Marisa is not correct. 96 + 3 = 32 and 68 + 2 = 34, The answer to 63 =+ 2 is greater than the answer to 96 =+ 3.
1) Marisa could have 60, 63, 66 or 69 pebbles. @
2) £32 - 44 lots of daffodils, 22 lots of marigolds or 1l lots of roses. ~

£48 — 24 lots of daffodils, 12 lots of marigolds (Pupils may also suggest 16 lots of tulips, 2 lots of poppies
or 6 lots of roses if they have experience of exchanging between tens and ones for division)

£66 — 33 lots of daffodils, 22 lots of tulips or Il lots of poppies.
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